Emma Blanchard T 613.369.4755 eblanchard@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 F 613.787.3558 (IP) blg.com



Our File No. 339583-000241

By electronic filing

November 15, 2017

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Enbridge Gas Distribution Inc. ("EGD")

Application for approval of 2017 Cap and Trade Compliance Plan

Board File #: EB-2016-0300

Union Gas Limited ("Union")

Application for approval of 2017 Cap and Trade Compliance Plan

Board File #: EB-2016-0296

Pursuant to the Board's Decision and Order dated September 21, 2017, we enclose Cost Claims on behalf of our client, Canadian Manufacturers & Exporters ("CME"), in the above-noted proceeding.

A copy of these Cost Claims has been forwarded to EGD and Union as instructed in the Decision and Order.

Please contact us if you have any questions or require any additional information.

Yours very truly

Emma Blanchard

enclosure

c. Andrew Mandyam (EGD) EB-2016-0300 Vanessa Innis (Union) EB-2016-0296

Paul Clipsham and Ian Shaw

OTT01: 8576349: v1



Affidavit and Summary of Fees and Disbursements

passion-hope-unit produperum y expopularizar qualitativa esta hoto						
- Required da	ta input is indicated by yellow-shade		Instructions are embedded in the form	to assist with calculations.		
	ust be in Canadian dollars. If applic					
		Rate		Country:		
Being Claimed Disbursement - The cost clair - A CV for each	 - A separate "Detail of Fees and Disbursements Being Claimed" (comprising a "Statement of Fees Being Claimed" and a "Statement of Disbursements Being Claimed") is required for each lawyer, analyst/consultant and articling student/paralegal. However, only one "Summary of Fees and Disbursements" covering the whole of the party's cost claim should be provided. - The cost claim must be supported by a completed Affidavit signed by a representative of the party. - A CV for each consultant/analyst must be attached unless provided to the Board as prescribed on the Cost Award Tariff. Except as provided in section 7.03 of the Practice Direction on Cost Awards, itemized receipts must be provided. 					
	acept as provided in section 710.			'Union") Application for approval of 2017		
File # EB-	2016-0296	Process	· ·	pliance Plan cost consequences		
Party:	Canadian Manufacturers &	Exporters	Affiant s Nam	e: Emma Blanchard		
HST Numb	er: 10807 5482 RT0001		Н	ST Rate Ontario: 13.00%		
	Full Registra	nt 🗆	Qual	ifying Non-Profit □		
Unregistered			Tax Exempt □			
	Othe	er ☑				
			Affidavit			
	Emma Blanchard		, of the City of	Ottawa		
יי, in the Pro		Ontario	, or the city or	, swear or affirm that:		
2. I have exan Claimed", "St 3. The attach Being Claime referred to a	atement(s) of Fees Being Claimed" a ed "Summary of Fees and Disburser d" include only costs incurred and ti bove.	upport of this cost and "Statement(s) nents Being Claime me spent directly t	claim, including the attache of Disbursements Being Cla ed", "Statement(s) of Fees B for the purposes of the Part	ed "Summary of Fees and Disbursements Being imed". Being Claimed" and "Statement(s) of Disbursements by's participation in the Ontario Energy Board process		
Signature	laim does not include any costs for vand 6.09 of the Board's Practice Diversity of Affiant affirmed before me at the	ection on Cost Aw		an employee or officer of the Party as described in		
in the Pro	\ /		, on	November 15 , 2017 .		
	John Mills Affidavits			(date)		



Affidavit and Summary of Fees and Disbursements

Union Gas Limited ("Union") Application for approval of 2017

File # EB-

2016-0296

Process: Cap and Trade Compliance Plan cost consequences

Party:

Canadian Manufacturers & Exporters

Summar	y of Fees and Disbursements Being Claimed	
Legal/consultant/other fees	\$9,500.00	
Disbursements	\$0.00	
HST	\$1,235.00	
Total Cost Claim	\$10,735.00	

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Emma Blanchard

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9



Detail of Fees and Disbursements Being Claimed

File # EB-	2016-0296	Process:	Union Gas Limited ("Union") Application for approval of 2017 Cap Process: and Trade Compliance Plan cost consequences			
Party:	Canadian Manufacturers & Ex		CARACACACACACACACACACACACACACACACACACAC	asaranananananananananananananananananan	Vincent J. De	
	Service Provider Type	(check one)	•	Year Called to Bar		Completed Years Practising/Years of relevant experience
	Legal Counsel	\Box		2001		16
	Articling Student/Paralegal		•			
i	Consultant				ŀ	lourly Rate: \$290.00
	Analyst					
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %) 13%
			CV provided	within previous	s 24 months	Communicación de contraction de communicación de communic
	S	tatement o	f Fees Bei	ng Claimed		
		Hours	Hourly rate	Subtotal	HST	Total
Preparation		6.20	\$290.00	\$1,798.00	\$233.74	\$2,031.74
Pre-Hearing	g Conference				***************************************	
	Preparation	***************************************	\$290.00	\$0.00	\$0.00	\$0.00
	Attendance		\$290.00	\$0.00	\$0.00	\$0.00
Technical (Conference	***************************************	Ψ =30.00			
	Preparation		\$290.00	\$0.00	\$0.00	\$0.00
	Attendance	MENDECONDUCTO OF THE CONTROL OF THE	\$290.00	\$0.00	\$0.00	\$0.00
		mgamatayayayayayayayayayayayayayayayayaya				
Interrogat	ories Preparation	6.90	\$290.00	\$2,001.00	\$260.13	\$2,261.13
	Responses		\$290.00	\$0.00	\$0.00	\$0.00

Issues Con	ference					
Market and the second s	Preparation		\$290.00	\$0.00	\$0.00	\$0.00
	Attendance		\$290.00	\$0.00	\$0.00	\$0.00
ADD Coddle	ement Conference	MOUNTESCON PORTE CONTROL OF THE STATE OF THE	*Constitution to the constitution of the const	ASSAULTEN TO THE		
ADK - Settle	Preparation	***************************************	\$290.00	\$0.00	\$0.00	\$0.00
MODEL TO THE PARTY OF THE PARTY	Attendance		\$290.00	\$0.00	\$0.00	\$0.00
	Proposal Preparation		\$290.00	\$0.00	\$0.00	\$0.00
ACCUSED AND AND AND AND AND AND AND AND AND AN	Порозантератист		7250.00	70.00	70.00	
Argument	Preparation		\$290.00	\$0.00	\$0.00	\$0.00
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				(herein en	· · · · · · · · · · · · · · · · · · ·	o processomer en incentral de la circa del circa de la circa de la circa de la circa del circa de la circa del la circa del la circa de la circa de la circa de la circa del la circa
Oral Hearin	g Preparation	gaugus Zuro-pramonica usos de la ciente de la	\$290.00	\$0.00	\$0.00	\$0.00
ganggangahiji naun nahasah dan jangan dan najan nahasup nasas	Attendance	Accessors to the contract of t	\$290.00	\$0.00	\$0.00	\$0.00
		ANALYS COMMISSION OF THE PROPERTY OF THE PROPE				
Other Conf	erences					
	Preparation		\$290.00	\$0.00	\$0.00	\$0.00
	Attendance		\$290.00	\$0.00	\$0.00	\$0.00
Case Mana	agement		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SEF	RVICE PROVIDER FEES	www.ee.coligeacleacccoppedatelipleacterocheecesidescurre		\$3,799.00	\$493.87	\$4,292.87



13.1

File #:	EB-2016-0296		
Process:	Union Gas Limited Application for approval of 2017 Ca cost consequences	p and Tra	de Compliance Plan
Party:	Canadian Manufacturers & Exporters (CME)		
Name:	Vince DeRose		
Nov 28-16	Reviewing Cap and Trade Compliance Plan	4.6	Preparation
Dec 1-16	Reviewing Cap and Trade Compliance Plan	1.6	Preparation
Jan 18-17	Reviewing revised application	3.9	Interrogatories Prep
Feb 3-17	Reviewing Cap and Trade issues list and related evidence	0.7	Interrogatories Prep
Feb 17-17	Reviewing Staff Interrogatories and related evidence	1.0	Interrogatories Prep
Feb 23-17	Reviewing draft Interrogatories and related evidence	1.3	Interrogatories Prep

Total Hours for Vince DeRose:

	<u>Hours</u>		<u>Fees</u>
Preparation	6.2	x \$290.00/hr =	1,798.00
Pre-hearing Conf. Prep	0.0	x \$290.00/hr =	0.00
Pre-hearing Conf. Attend	0.0	x \$290.00/hr =	0.00
Technical Conf. Prep	0.0	x \$290.00/hr =	0.00
Technical Conf. Attend	0.0	x \$290.00/hr =	0.00
Interrogatories Prep	6.9	x \$290.00/hr =	2,001.00
Interrogatory Responses	0.0	x \$290.00/hr =	0.00
Issues Conf. Prep	0.0	x \$290.00/hr =	0.00
Issues Conf. Attend	0.0	x \$290.00/hr =	0.00
Settlement Conf. Prep	0.0	x \$290.00/hr =	0.00
Settlement Conf. Attend	0.0	x \$290.00/hr =	0.00
Settle. Conf. Proposal Prep	0.0	x \$290.00/hr =	0.00
Argument Prep	0.0	x \$290.00/hr =	0.00
Oral Hearing Prep	0.0	x \$290.00/hr =	0.00
Oral Hearing Attend	0.0	x \$290.00/hr =	0.00
Other Conf. Prep	0.0	x \$290.00/hr =	0.00
Other Conf. Attend	0.0	x \$290.00/hr =	0.00
- -	13.1	Total Fees for Vince DeRose:	\$3,799.00



Detail of Fees and Disbursements Being Claimed

File # EB-	2016-0296	Process:				n for approval of 2017 Cap uences
Party:	Canadian Manufacturers & Ex		: and Trade Compliance Plan cost consequences Service Provider Name: Emma Blanchard			
. arcy.	Service Provider Type	(check one)		Year Called to Bar	Limila Dalici	Completed Years Practising/Years of relevant experience
	Legal Counsel	V	·	2007		10
	Articling Student/Paralegal			arientea zuen serviculum sonisconos comunicarios con contra con		to do de mente de productivo de montre con a montre con la constanta de la constanta de la constanta de montre
	Consultant			•	ŀ	Hourly Rate: \$230.00
	Analyst					Response to the contract of th
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (<i>enter</i> %) 13%
			CV provided	within previous	24 months	Example contribution of the Contribution of th
	S	tatement o	f Fees Bei	ng Claimed		
		Hours	Hourly rate	Subtotal	HST	Total
Preparation	1		\$230.00	\$0.00	\$0.00	\$0.00
Pre-Hearing	g Conference				AND THE PROPERTY OF THE PROPER	
	Preparation		\$230.00	\$0.00	\$0.00	\$0.00
	Attendance		\$230.00	\$0.00	\$0.00	\$0.00
***************************************			7-00.00			
Technical (Conference			***************************************		
	Preparation		\$230.00	\$0.00	\$0.00	\$0.00
***************************************	Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Interrogate	ories Preparation		\$230.00	\$0.00	\$0.00	\$0.00
meerrogati	Responses		\$230.00	\$0.00	\$0.00	\$0.00
	Responses		7230.00	φ0.00	70.00	70.00
Issues Con	ference				nivel to the two to the to the total to the total to the total to	OF THE PROPERTY OF THE PROPERT
	Preparation		\$230.00	\$0.00	\$0.00	\$0.00
	Attendance		\$230.00	\$0.00	\$0.00	\$0.00
ADR - Settle	ement Conference		~~~			
	Preparation		\$230.00	\$0.00	\$0.00	\$0.00
00000000000000000000000000000000000000	Attendance		\$230.00	\$0.00	\$0.00	\$0.00
NAMED AND DESCRIPTION OF A PROPERTY OF THE PRO	Proposal Preparation		\$230.00	\$0.00	\$0.00	\$0.00
NAMES AND THE PROPERTY OF THE			400000	**************************************	anno inicia de la compania de la co	
Argument	Preparation	3.00	\$230.00	\$690.00	\$89.70	\$779.70
Oral Hearin	Dronaration	0.50	\$230.00	\$115.00	\$14.95	\$129.95
Orai neariii	g Preparation Attendance	0.30	\$230.00	\$0.00	\$14.95	\$0.00
	Auendance	Partic Silvon (1997-1994) de 1997 de 1	3230.00	30.00	30.00	
Other Confe	erences	in Allandrich (in 1919) (1994) in Anderstand (1995) (1995) (1995) (1995) (1995) (1995) (1995) (1995) (1995) (1	Onesano para proposano de la constante de la c	MARAGER PAR PER PETROLOGISTA DE PETROLOGISTA CELEBRA CELEBRA CONTRA CONTRA CONTRA CONTRA CONTRA CONTRA CONTRA C	ymaassassasta hoodoo oo saa saa saa saa saa saa saa saa sa	милических чтобочтов чтого что очено очено полического мене очено в чтого выбочно об выпосняю очено чтого очено о
	Preparation	agriculturamente en en en el el describio de la companya del la companya de la co	\$230.00	\$0.00	\$0.00	\$0.00
	Attendance		\$230.00	\$0.00	\$0.00	\$0.00
Case Mana	agement		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SER	RVICE PROVIDER FEES			\$805.00	\$104.65	\$909.65



File #:	EB-2016-0296		
Process:	Union Gas Limited Application for approval of 2017 Cap a cost consequences	nd Trad	e Compliance Plan
Party:	Canadian Manufacturers & Exporters		
Name:	Emma Blanchard		
Apr 13-17	Working with S. Pollock to prepare cross examination questions for hearing	0.2	Oral Hearing Prep
Apr 19-17	Working with S. Pollock to develop cross examination questions	0.3	Oral Hearing Prep
Apr 25-17	Conference with P. Clipsham re: CME priorities for submissions	0.2	Argument Prep
May 15-17	Preparing outline of submissions with V. DeRose and S. Pollock	0.2	Argument Prep
May 18-17	Continue revising draft submissions; e-mail to P. Clipsham and I. Shaw re draft submissions	1.0	Argument Prep
May 19-17	Finalizing submissions; reviewing submissions with P. Clipsham and arranging for filing	1.6	Argument Prep
	Total Hours for Emma Blanchard:	3.5	

	<u>Hours</u>		<u>Fees</u>
Pre-hearing Conf. Prep	0.0	x \$230.00/hr =	0.00
Pre-hearing Conf. Attend	0.0	x \$230.00/hr =	0.00
Technical Conf. Prep	0.0	x \$230.00/hr =	0.00
Technical Conf. Attend	0.0	x \$230.00/hr =	0.00
Interrogatories Prep	0.0	x \$230.00/hr =	0.00
Interrogatory Responses	0.0	x \$230.00/hr =	0.00
Issues Conf. Prep	0.0	x \$230.00/hr =	0.00
Issues Conf. Attend	0.0	x \$230.00/hr =	0.00
Settlement Conf. Prep	0.0	x \$230.00/hr =	0.00
Settlement Conf. Attend	0.0	x \$230.00/hr =	0.00
Settle. Conf. Proposal Prep	0.0	x \$230.00/hr =	0.00
Argument Prep	3.0	x \$230.00/hr =	690.00
Oral Hearing Prep	0.5	x \$230.00/hr =	115.00
Oral Hearing Attend	0.0	x \$230.00/hr =	0.00
Other Conf. Prep	0.0	x \$230.00/hr =	0.00
Other Conf. Attend	0.0	x \$230.00/hr =	0.00
	3.5	Total Fees for Emma Blanchard:	\$ 805.00



Detail of Fees and Disbursements Being Claimed

			\$005A0000000000000000000000000000000000	The Transportation of the Contract of the Cont	A THE RESIDENCE OF THE PARTY OF	
File # EB-	2016-0296	Process:		•	on") Application an cost consequ	n for approval of 2017 Cap uences
Party:	Canadian Manufacturers & Ex		Service Provider Name: Scott Pollock			
- 3 •	Service Provider Type	(check one)	•	Year Called to Bar	менным ороно ороно ороно ороно и изгласно ороно од ороно	Completed Years Practising/Years of relevant experience
	Legal Counsel	\square	· [2016		1
	Articling Student/Paralegal		•60			
	Consultant				ŀ	lourly Rate: \$170.00
	Analyst					
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %) 13%
			CV provided	within previous	s 24 months	
	S	tatement o	f Fees Beir	ng Claimed		
		Hours	Hourly rate	Subtotal	HST	Total
Preparation	1	0.90	\$170.00	\$153.00	\$19.89	\$172.89
Pre-Hearing	g Conference		6470.00	¢0.00	¢0.00	\$0.00
maqaaalaaajaaajaajaajaaanaanaanaanaanaanaanaana	Preparation	www.ubadadauuudowaana.toooya.toopaanaana.coopaana.coop	\$170.00	\$0.00	\$0.00	
	Attendance	MANAGE AND	\$170.00	\$0.00	\$0.00	\$0.00
Technical	Conference	,				
	Preparation	***************************************	\$170.00	\$0.00	\$0.00	\$0.00
	Attendance		\$170.00	\$0.00	\$0.00	\$0.00
Interrogat	ories Preparation	5.40	\$170.00	\$918.00	\$119.34	\$1,037.34
	Responses		\$170.00	\$0.00	\$0.00	\$0.00

Issues Con				1		40.00
***************************************	Preparation		\$170.00	\$0.00	\$0.00	\$0.00
	Attendance		\$170.00	\$0.00	\$0.00	\$0.00
ADR - Settle	ement Conference			***************************************	Companyacy (in color) but consequint a year of a great product of the color of the	
	Preparation		\$170.00	\$0.00	\$0.00	\$0.00
Names of the Control of States (Control of the Control of the Cont	Attendance	- CONTRACTOR CONTRACTO	\$170.00	\$0.00	\$0.00	\$0.00
	Proposal Preparation		\$170.00	\$0.00	\$0.00	\$0.00
				4.4.7.0.00	A.F.O. O.O.	ć4 20C 20
Argument	Preparation	6.80	\$170.00	\$1,156.00	\$150.28	\$1,306.28
Oral Hearin	ng Preparation	11.70	\$170.00	\$1,989.00	\$258.57	\$2,247.57
	Attendance	The state of the s		\$680.00	\$88.40	\$768.40
				######################################	e processor de la companya de la co	
Other Conf		***************************************	A ~ ~ ~ ~ ~	,	<u> </u>	\$0.00
	Preparation	NAMES OF THE OWNER OWNER OF THE OWNER OWN	\$170.00	\$0.00	\$0.00	\$0.00
Case Man	Attendance		\$170.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00
			1 71/0.00	I		
ITOTAL SFI	RVICE PROVIDER FEES			\$4,896.00	\$636.48	\$5,532.48



File #:	EP-2016-0296		
Process:	Union Gas Limited Application for approval of 2017 Cap a cost consequences	nd Trade	e Compliance Plan
Party:	Canadian Manufacturers & Exporters		
Name:	Scott Pollock		WALLEST THE STATE OF THE STATE
Jan 20-17	Reviewing Union Gas 2017 Cap and Trade redactions in response to the OEB's letter of January 11, 2017	1.1	Interrogatories Prep
Feb 16-17	Reviewing Cap and Trade application to create Interrogatories	0.9	Interrogatories Prep
Feb 17-17	Drafting Interrogatories	1.7	Interrogatories Prep
Feb 19-17	Drafting Interrogatories.	1.6	Interrogatories Prep
Feb 24-17	Meeting with V. DeRose re Interrogatories	0.1	Interrogatories Prep
Apr 6-17	Reviewing Cap and Trade compliance plan Interrogatories	2.4	Oral Hearing Prep
Apr 11-17	Reviewing interrogatory responses in preparation for the Cap and Trade hearing	2.5	Oral Hearing Prep
Apr 13-17	Meeting with E. Blanchard regarding Cap and Trade hearing	0.2	Oral Hearing Prep
Apr 18-17	Preparing for cross-examination	0.3	Oral Hearing Prep
Apr 19-17	Preparing for cross-examination	6.3	Oral Hearing Prep
Apr 20-17	Attend Union's Cap and Trade hearing and cross-examination	4.0	Oral Hearing Attend
May 15-17	Reviewing Argument-in-Chief; writing submissions	2.4	Argument Prep
May 16-17	Writing submissions	2.0	Argument Prep
May 19-17	Writing and editing submissions	2.4	Argument Prep
Oct 16-17	Reviewing the Draft Rate Order	8.0	Preparation
Oct 19-17	Drafting letter of comment	0.1	Preparation
	Total Hours for Scott Pollock:	28.8	-

	<u>Hours</u>		Fees
Preparation	0.9	x \$170.00/hr =	153.00
Pre-hearing Conf. Prep	0.0	x \$170.00/hr =	0.00
Pre-hearing Conf. Attend	0.0	x \$170.00/hr =	0.00
Technical Conf. Prep	0.0	x \$170.00/hr =	0.00
Technical Conf. Attend	0.0	x \$170.00/hr =	0.00
Interrogatories Prep	5.4	x \$170.00/hr =	918.00
Interrogatory Responses	0.0	x \$170.00/hr =	0.00
Issues Conf. Prep	0.0	x \$170.00/hr =	0.00
Issues Conf. Attend	0.0	x \$170.00/hr =	0.00



	28.8	Total Fees for Scott Pollock:	\$4,896.00
Other Conf. Attend	0.0	x \$170.00/hr =	0.00
Other Conf. Prep	0.0	x \$170.00/hr =	0.00
Oral Hearing Attend	4.0	x \$170.00/hr =	680.00
Oral Hearing Prep	11.7	x \$170.00/hr =	1,989.00
Argument Prep	6.8	x \$170.00/hr =	1,156.00
Settle. Conf. Proposal Prep	0.0	x \$170.00/hr =	0.00
Settlement Conf. Attend	0.0	x \$170.00/hr =	0.00
Settlement Conf. Prep	0.0	x \$170.00/hr =	0.00

OTT01: 8565045: v1